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" PART -II: SCHOLASTI. APTITUDE TEST
(For Student «f Class VIII)
Time : 90 Minutes Max. Marks : 90

INSTRUCTIONS TO CANDIDATES

Read the following instructions carefully before you open

the Question Booklet.

1. Answers are to be given on the same OMR Answer
Sheet provided for Part - 1.

2. There are 90 questions in this test booklet. All are
compulsory.

3. The Question Numbers 91 - 110 belong to:
Mathematics, 111 - 145 pertain to Science and
146 - 180 are on Social Science subjects. '

4. Choose the correct answer from the options given for
each question and darken the corresponding circle
with black ball point pen in the OMR Answer Shéet.
Do not mark ‘v” or ‘X’ in the OMR sheet.

5. Since the time allotted for this Question Paper is very
limited you should make the best use of it by not
spending too much time on any one question.

6. If you do not know the answer to any question, do not
waste time on it and pass on to the next one. If time
permits, you can come back to the questions, which you
have left in the first instance and attempt them.

7. Rough work can be done anywhere in the Question
Booklet but not in the OMR sheet/loose paper.

8. Each correct answer will be awarded one mark.

9. Please return the OMR Answer Sheet only to the
invigilator after the test. Candidates can retain the
Question Booklet.

10. Quote the seven digit Roll Number without fail for
any future correspondence.

PLEASE TURN OVER THE PAGE AND START
- ANSWERING.

LGS - 11 : uplufle)d Sper uGHS Coiray
(6TLmid eu@ LIl LOIW6WT 6uIT & (6Th & &IT 6UT )

Groimd : 90 WAl rhigssir Gongs LGS © 90
Csiiey erggiLisuisEnsarer eflFupammasr
efla {16 QTG LU NSNS st GerGSsi Gerer

NS peOmBEETE SEUETTLONS; Lilg SSLD.

1. afleoLasmer uGH-1 CaralnE auymsiu L OMR
aflenL_ggirsCaGL @nise CoustorGHid. '

2. @&Csialled 90 efleTTé e 2 sTaTer. HiMETSSMNELD
& Lmuib eflsmL_weflSasiuL. Coaussar(hid.

3. efleorm erevorase 91 - 110 sewfigin, 111 - 145 gfiaflsy,
146 - 180 sepss H|flefiLich LIML_BISEETE STITTHSmEL.

4. @aQarm MamalihEh @arGssiul@srer wrHm

oflenLseflefimHg sfumrer eflanuflsners & eiore s
Ijms OMR eflenl_ggmafled 2 fliw au’ L SHsb & Him
umsoumuston”. Gueameflsommsd i1 Coueir(Ld. v Lommid ‘X
A @fiiGasmer OMR sl ssreafld Qainus
G L TG :

5 @hs aarrSSTEnsE HTe I6Te) aemrunsasi-
uC (psTengired 6THES (m elemeaflnE i & Hig6 CHTEmas
Qewaufisarwd Crrsms ss fAnhs yeapuilsh
LweTUOSSaLd.

6. eTareug (@ llemaiifE aflenL Qgfiwaissme srsirmired
3560w sraeliTub Gsinumod 9H5s eflarmailhG
Qedoayd. CrrbimEsre wsdld ol Ostssrn
eflerm&asemen (pwhd Qainuan|.

7. oflenLsmaréd seuorL i CopGsreTEnid aiflpmmpaamear
efleorm Erev@STS 6 i@ Couctor(omenrayid Glaig)
@amrerereord. OMR — eflemLssrafllCanr gjsmg
seflGrafiGor QFiuS&. L Tg).

8. @uG@aur@m sflurar el sGh @ WHOHGUEGT

oIS ILGLD.

9. Cxiey Yuhs VImEe OMR aflmLSgTemer WL G
ImpssaumsrsiliursTiin CsrG&ssaun. allsammpre
Qs Liemu Caitaut sTHISSIEF GEsseLh.

10. 7Camub SpsH @iy Qamerer Cousngw SpHeme
ghugst gu Goss uHGaETmEmTS &amTLos
GO ILayb.

uS&Sm&S HEUIN uHaaflses Csm _rigea|.
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91.

92.

93.

94.

(3) 50°,

[CODE [ViIn| 1 | 24

MATHEMATICS/ sewflg1b

Madhavi has paid simple interest on a
certain amount for 4 years at 20% p.a. is
X 5,000. Find the Principal.

% 6,250 -
X 7,000

1) 6,000 ?)
@) T7,250 (4)

There are 360 students in a school. Out of
360 students 240 are boys. Find the
percentage of girls in that school.

33.6%
30%

1) 33% ‘(2‘)
3) 33.3% (4)

If the exterior angle of a triangle is 110° and

its interior opposite angles are equal, find all
the interior angles of the triangle.

(1) 80°, 45°,

65°,

45°  (2)
65°  (4)

70°,
70°,

55°,
50°,

55°
60°

Find the missing figures in the following

- Pascal’s triangle :

(1) 30, 100, 10 (2)
(3) 20,70, 21 (4)

20, 21, 70
21, 20, 70

91.

92.

93.

94.

s @ 30, 100, 10
20, 70, 21
, @

vmng,aﬁ]'@@ GOUALL OsrenssE 20%
ey 6I5L 4 Y @THSEREES T 5,000 -85
safleulgwinrs Q&@;Jg,gmrra) SNFMHDSE
ST NS

(1) % 6,000 <) % 6,250
(3) %7250 @ 7,000
@@ ueraiiuded 360 LTETIESETSEET

O GTETEIT. Seursaflew 240 Gur
WrewTeuTseT orafled Lo mewrellsefl e
FgeisD sraNs.

(1) 33% Q)

/@ 33.3% (4)

33.6%
30%

@M wsGasransgder @m OColealls
Gamentid 110° HMILD HSen 2 aTRenTé
Caramriiger Fwbwafld, DPE-
Carangdlen simarsg o | Camewrmi-
SENETILD SHTERT.

(1) 80°, 45°, 45° @ 70°, 55°, 55°
(3) 50°, 65°,65° (4) 70° 50°, 60°

Qereu@pb uravsd WECasTamssl e
QUL (ReTer eramaamer HlrLiLs.

7)) 20, 21, 70
/ 21, 20, 70
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95.

96.

97.

98.

99.

Arithmetic mean of 10 observations was
calculated as 60. In doing so, an observation
was wrongly taken as 51 instead of 11. What
would be the correct mean ?

1) 56 ) 65
@) 54 , 4) 51

1If 60 workers can do a project work in

12 days, the number of workers required to
do it in 5 days are :

(1) 144 (2) 140
() 25 4) 120

An angle whose measure is greater than
180° and less than 360° is called as

(1) Supplementary angle
(2) Complementary angle
(3) Straight angle

(4) Reflex angle

The factors of 64x2+144xy +81y?2 are :
(1) (Bx+9y) (Bx+9y)

(2) (8x—9y) (Bx+9y)

3 (8x—9y)?

4) (9y-—8x)?

Circumference of a circle is always :
(1) three times of its diameter

(2) more than three times of its diameter
(3) less than six times of its radius

(4) three times of its radius

95. 10 wdliyseller sl H&srref 60 crans
semsHLUL’L g, Seueurm GEiuld
Gurg ewm wHuy 11 -s@U ufers
51 Tt SeuMTE eTr(hSg & EmeTeri-
uLL g erafled, sflwren symefl wirg) ?

(@ 56 (2) 65 |
3) 54 @ 51

96. 60 Gauenawrl ser ¢m CQewaddir
Cauemavenw 12 prisefled apigliLimiger
aafler, 2Gs Ceauamaarws 5 prisafled
Wig&ss5 Coameuwirer Ceuanawiml geflem

crasmenflsens :
‘@) 144 (2) 140
@3 25 - (4 120

97. Garewr ojerey 180° -&@ Goed 360° -&@er
BmpsTd NGCHTERTD : .

© (1) dlens Blyiiys Casmewtid
(2 Hiriys Gamewtid
() CrrGsmentid

(@ e euenerCamenTD

98. 64x2+144xy +81y? eremuigen smyanfl :
(@ (8x+9y) Bx+9%y)
(@)  (8x—9y) (Bx+9y)
B (Bx—9y)
(4) (9y—8x)?

99. el L gflen &DDaTe, eremig eriiGUTEID
1) Sigen N Lgewgl Gured pperm

DL_MBIS
(’@ Sipen oL SHen epem DL_Eiens
el oFHsLd
(B) oisen yrsHen 2pm L kiensedL
GenMay.

4) Sigen Yrsmsl CGure pperm

DL EE -



100.

101.

102.

103.

104.

The base of the parallelogram is 6 times its

height. If the area is 1734 sq.cm, its base
and height are respectively :

(1) 100 cm, 15 cm
(2) 102 cm, 17 cm
(3) 104 cm, 16 cm
4) 101 cm, 18 cm

How mar;y pairs of possible integers are there
that give a product of —63 ?

M 5 @ 4

@) 2 @ 6

A submarine is at 123 feet below the sea

level. Then it moves up to 25 feet and goes
down below 18 feet. Find the depth of the
submarine.

1) +116 @)
3 -116 @)

—80
+130

The distance travelled by the tip of the
seconds hand of a clock in 1 min, if‘ its length

is 126 mm :
(1) 792 mm (2) 972 mm
(3) 252 mm (4) 396 mm

How many years are between 421 BC (BCE)
and 1537 AD (CE) ?

(1) 1598 )
(3) 1588 (4)

1958
1957

[CODE |[vin| 11 | 24 |

100. ¢ @ eeTsrHHlen 2l LILIGSHOTEANS)
Sigen 2 WrSensdLll GLITe 6 L EIST&aYLD,
Sigen Lpliuetey 1734 8.08.15 56D
@muen, g6 BiglLEHD OHMIWD
2 Wb peonGu :

(1) 100 Qg.8, 15 Qg..8

@ 102658, 17 Gs.i8

(3) 104 Q&..5, 16 QF.15
(9 101 Gs.f, 18 Qs.1B

101. QumEsSHU@ET —63 -BS ST&ESigW

erssenen Gamg. (pLP&&ET 2 eTare ?

» 5 @ 4
‘@ ¢

@ 2

ewm Broppdls slLoTarg &6

wlLgHNBHs 123 <igser ECup

o arengl. 19pE 25 3llq FeiT GLDGi)G(II)ﬂ’éSé]
. b&THE, Sar@h 18 gsar ECp

102.

QoiiGang. Breppds slue -
QMEGLD YRSEMSHEH STERTS.
1) +116 2 -80

(@ ~116 (@ +130

103. saTrdHed 126 0.5, Beraperer ellemmig
wperafler penas g HIILSH6 HL&GLD

Garerava, :
Ve 792 A.15. (2) 972 8l.i8.
(B) 252185 (@) 396 8.5

104. &.qp. 421 wpmib &.9. (Cur.sy) 1537
5@ QoL Cu aFsamar alfLhiGET

D _GTETE ?
(1) 1598 < @ 1958
(3) 1588 1957
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105.

106.

107.

108.

(3) 7 feet (4)

Find the median of the given data :

14, 3,0, —4, —21, —8,13, —1,7, 8
1 -4 2 -05
G -5 4) 8

A 3-fold invitation card is given with
measures. Find its area.

g
o
<
N
g I
)
\O
9cm 9cm  9cm
(1) 598 cm? (2) 414 cm?
(3) 958 cm? (4) 498 cm?

A 10 feet ladder leans against a wall at
height of 6 feet from the ground. How far is
the base of the ladder from the wall ?

9 feet
5 feet

(1) 8 feet (2)

4x

Find the valueof x : ——7 =—

6 5
(1) _100 : (2) 105
3) 115 (4 125

105. Qar@Hs&siulL  grejsafler

GaoL

flenevenwis srems.
14, =3,0, —4, -8,13, -1,7,8

1 -4 /@ —05

@) -5 4 8

106. ¢(m 3 LoLq_Lu_| St plbsy il -

wWreng ULSHE® 2 eTerelTmy. H6rey-
senens CsTam(HeTangl. SiG6m LIFLILI6T-
MEUE SIS,

20 Qs.8

I

6 C-J&.L_B

9Qs.8 9Qs.8

1) 598 Q&.182

(3) 958 Q&.15? (4) 498 Qg.15?

107. 10 @ig Berparer genfl, senruledBHg:

6 g 2 WrsHle seuflenens GgmHomm)
sTSg eeudasliul (Herearg erafle,
saufledmbg galullar gluEs -
WITGNG GTEUGLETEY SITHS 2 aTeng) ?

/@ 8 - (2) 9 3g
7o (9 59q
1108. x -&7 SLIHLIE STENS : i—7-§§

(1) 100 (@ 105

(3 115 125



109. Find the unknowns in the following figure :

110.

(1) 20°, 60°, 100° (2) 80°, 40°, 60°

(3) 100°, 40°,40° (4) 80°, 80°, 20°

Find the correct ascending order of following
rational numbers :

D 35 126
@ T
8
(3) 7 gl T 7 o~

g 2 78 -13
(4) 312" 6" 15

[CODE [VIII| 11 | 24 |

109. Qemeuid LLGHod Qsfwrs wHiy

FNTE SIS, .

(1) 20°,60°,100° (2)
-

(3) -100°, 40°, 40° 80°, 80°, 20°

80°, 40°, 60°

110. Qenmeumd Slgupm erRmaseaten Fiflwimer

gneuflensamws Carbbs®Hdse

|
o:|,,;
2|
9%
i
(CIEN]
e Je’)

@ 215 3%

5 28 -18 7
®) 376" 157 12
g =278 -1
(4) 37127 6" 1
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SCIENCE/ 3ifiedwev

111. The element having high melting point, used
in heating appliances is :

(1) ‘ copper " (2) lead

(3) nichrome (4) tungsten

112. Arrange the density of the materials at room
temperature in ascending order :

(1) Mercury, Wood, Water, Kerosene,
Aluminium
(2) Kerosene, Wood, Aluminium, Water,

Mercury

(3) Wood, Kerosene, Water,” Aluminium, '

Mercury
(4) Aluminium, Mercury, Kerosene,
Wood, Water

113. The velocity of a golf ball rolling in a straight
line changes from 18 m/s to 8 m/s in 5 secs.
What is its deceleration ? (Assuming that it
is decelerating uniformly)

(1) 2 m/s? (2) -2 m/s?
(3) -02m/s? (4) 25 m/s?

114. The equivalent values of —20°C temperature
in Fahrenheit and Kelvin are :

(1) 253.15 K, —4°F

(2) 263.15 K, 4°F

(3) 293.15 K, —6°F
" (4) 24315 K, —5°F

111. Qaudiuapl Hb Frgammsaiier Liwem-
LBSSILHD s 2 HEHae CEmem .

QurpeT :
1) smbyd (2) sriwbd
Ve H&EGTTD (4) LmevL e

112. weop QauluBlereulier Qur@mLseaer
g L rHHAar Sigliumudd
gmeuflemslie auflesliu®sss :

(1) urgysw, Wb, B, W ewrer

Qewr, igibleflwid
(2) weantamaearT, WD, SgyLdlef

wid, B, ursrad

(@ oy, warQewarQari, i,
Sigileflwib, urgrsn ‘ _
(4) sgueflub, ursysbd, W
Qemrar@lenTiil, WD, Hir

113. @ Cpr&Casri Gl urenguld 18 15/ed
aarm  HosCaussgded  Quiidls
Qasramqm&Gn GCsreol UbsTETS
5 elprysaiid 8 8/l erarm Hevs
Ceusgdlenan sen_dmgl. UGLTEHET
Qumith erlTpHSSD Wrg ? (g Fymen
aHrpOEssmssE QaramBHaTarsrss
Q&rérs.)

(1) 2 18/602 (@ ~2 18/692
(3) -028/e92 (4) 25 B5/e82

114. —-20°C GQauiublened@ &) enawrimer

L ceLIMFaTal L LD My Lb Q& el e
wdUL&er :
'4 253.15 K, —4°F

)  263.15 K, 4°F
() 293.15 K, —6°F
(4) 243.15 K, —5°F



115.

116.

117.

118.

The average distance between the Earth and
the Sun is : |

(1) 147.1 million km

(2) 152.1 million km

(3) 149.6 million km

(4) 148.6 million km

Battery : Alessandro Volta : : Kinetoscope :

(1) Luigi Galvani

(2) Thomas Alva Edison
(3) Richard Parker

(4) Albert Einstein

Planets without Moon :
(1) Mercury and Venus
(2) Mercury and Mars
(3) Venus and Uranus
(4) Uranus and Mars

Select the correct Statement(s) :

Statement : (i) - Nothing can travel faster
than light.

The characteristics of an
object can be determined
by its shadow.

Statement : (ii)

Statement : (iii) The image on pinhole
 camera is upright and the
mirror image is upside

down.

Statement : (iv) The image formed in the
plane mirror is of the same
size as the object.

(1) Statements (ii) and (iii)
(2) Statements (i) and (iv)

-(3) Statements (iii) and (iv)

(4) All of the above

[CODE [vil] II | 24 |

115. y&@w GRluasEw Qe Guiwiman
gyrefs QAgrenee, :
1) 147.1 Bevedwenr &.15.
) 1521 BeveSwern &.i5.
< 149.6 Weedlwien &.15.
4)  148.6 Wevadlwen &.15.

116. Wenseer : SGeevTam_Grr CeumeoLm
.1 HQermrevCamL
1) enuid sraeuref
<1 STDGD DVET GTIq.F6T
(3) M&er® uTT&EST
(4) < eOUNl gemavle e
117. ey Qeoeors GCarerser :
(& Lgen hHmb GeusTer
(2) ygen whmib Ceeueumi
(3) Qeuerefl wHod WGremev
(4 wGrevev HMID GEFeueuTL

118. sflwrer sapml/smpnIsemens Csirb-
Qg(H&sa :
sapml: () @efleow afli CousLoTs

eThEQeum(m GlLmmEHLD

pwenfliiudleene.

(1 Qurpetlen

flpemas Carar® iU

Qurpeflen Hemenoenwis

SeiTLdlwl @uigLd.

oarflg gienens smOlFT

afed Qupliu@d

Gioub Crrreng).

Sl udler Cemammid

Qbud sane STeg.

FOGET lquiled

Caramid 1 NibLapd

QummEepd @Gr

ojeTelld @MmEGLD.

& SapMI (i) ODILD (i)
4 gapml (i) HHID (iv)
(3) &mom (i) LOHMILD (iv)
(4) Cupamdlu HESSHID

sapmi : (i)

Sapm) (i)

Sappl : (i)
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- 119.

120.

121.

122.

Assertion (A) :

)

If 20 coloumbs of charge flows through a
circuit for 3 minutes, calculate the current
flowing through a conductor per second :

1) 011A
@) 001 A

2 010 A
4) 0.001 A

Each liquid moves with a
different speed.

Reason (R) :  The frictional force which
lies parallel to the layers of
the liquid opposes. the
motion of the liquid layers

when they are in motion.

(1)
(2)

Both (A) and (R) are wrong

(A) is correct but (R) does not explain
(A) |

(3) (A) is correct and (R) explains (A)

(4) (A) is correct but (R) is wrong

The specific heat capacity of water is
4200 Jkg ~1K~1. The amount of heat energy
required to raise the temperature of 2 kg of
water from 60°C to 70°C is :

(1)
3)

80000 J
84000 J

(2)
4)

42000 J
48000 J

The soft metal is :
(1) Nickel
Sodium

(3) Calcium
(4)

Aluminium

10

119. 20 @b Bl Lid e sLgHuder

auflurg 3 BlflL_hisEpsEl urnidpg
aafle, @m elamguled s_gHule

umyd WenGerrt_gHem sjerey

¢ @ 011 A 2) 010 A
(@) 001 A 4) 0.001 A
120. sapmi: @euGeurm Hreuud Qeue

?f@

@

121.

Goum Geussdled pardmg.
draumser Quii@gn Gurg
Saupdlar  Hrau DEEEG
s@566 G CL SapPibe
- @eemrwrs Qewéu@bd
2 ey eNlenFwmerg <oieu
wsssamg aTdisEL cuams
e iemwBHmEELWD.
D), SHATEWID ©)Tar(Hid geu)
sapm)| &1, Dyemed SMTETIND FnHenm
eSlerszeiereney
sapm) 5, Cogub SMrewIDd Fmbhenm
- efersgdps o
Sapm &, e EryewId Seum

STTETOTLD :

1)
2)

pler senGeuciu erhysHmer wH iy
4200 Jkg "KL 2 £.4. Hevpwyerer Bfleir
Geuliuiflenavenit 60°C-eHHE 70°C <248

- 2wigss Ggealu@v Qeiliu
% dmedlern iy : |
(1) 80000 J ) 42000 ]
84000 ] (4) 480007

¢

122. Qme%jras)mu_mm o Caons :

-

<

1) Hase
Gamguwid
sredlwib

3)

4) igfeflwib



123.

124.

125.

Nearly 99% of the mass of our human body

consists of just six chemical elements. They

are :

(1) Nitrogen, Hydrogen, Potassium,
Sulphur, Sodium, Chlorine

(2) Oxygen, Hydrogen, Calcium,
Sulphur, Chlorine, Magnesium

(3) Carbon, Hydrogen, Phosphorus,
Potassium, Sodium, Magnesium

~ (4) Oxygen, Carbon, Hydrogen,

Nitrogen, Calcium, Phosphorus
Find the incorrect statement(s) :

(i) Nitrogen is the second most abundant
element in the universe

(i) Oxygen reacts with various non-

metals to give corresponding non-
metallic oxides which are generally
basic in nature

(iii) Restricting the use of CFCs is one of
the preventive measures to save the
earth and its resources '

(1) (i) and (i) (2) (i) and (if)
(3) (i) only (4) (@) and (i)

Identify the element whose atomic number

"is 19 and atomic mass is 39 :

(1) Sulphur
(2) Potassium
(3) Chlorine
(4) Calcium

1
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123. wafls oLeler  99% Hepuld
SILdleTar opm SefombigET :

(1) ewpLyRen, m@LugeﬁT,

QurlLrfluw, geourr, Gamgwibd,
&Garmflen

(2) < &fgen, epanl Fme, sredlw,
goour, gGermflen, wsetfwund

3) sTiueT, eanl ryer, Lreura,

'  QumrlLrfww, Gemigwib,

L&HETF WD
/ 2,586, STTLIET, anL e, .

BLITEQ6, STEEILD, LTevLIFeD

124. geauprenr swmpm/Fapnsoers Csib-

Qs H&SHaLD.

() epLrmen BLFH AMTLGHD
UFeUOTE QreaTLrd @ s

. sTeUL@LL SaflwbrEb.

() <&Amen LOCeum AComsE-
sepLen edlenar|flbg sTrES6aTEnto
aurlps HCars ysmshHsmen -
2 (HeUTsGHDE.

(iii) CFC wwerurlenL & GoDSSHe
arug  yllewwhd g6
PPOBIGZENETILD LITHSTEHGD 6(H
alpennWTGLD. 7 _

(1) (i) wpmid (i) (i) dmid (i)

3) (@ @ (4) (D) omIb (i)

125. ogm eraw 19 wHMID SemBlen
39 QareriL saflbgdamss s@mLHluie|b.

(1) &oour
/@ QumrlLrflwib
() EGermiflen

(4)  sroflwd
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126. Beryllium is an example for

element,.

(1)
®)

Tetravalent ()

Trivalent - (4)

127. Match the following :

(a)

(b)

(d)

(1)
2
®3)
@

Endothermic (i)

reaction

Exothermic (ii)

reaction

Sublimation (iif)

Crystallization (iv)

Divalent

Monovalent

Ammonium

Chloride

Purification of

Common salt

Burning of
Magnesium
ribbon

Dissolution of
glucose in
water

(@)-(iid), (b)-(iv), (9)-(0), (d)-(i) -
(@)-(i), (b)-~(iid), (c)-(iv), (d)-()
(a)-(iv), (b)-(ii), (c)-(0), (d)-(ii)
(@)-(v), (b)-(1), (c)-(ii), (d)-(iii)

128. Select the odd one out :

1)
(2)
3)
4)

DNA, enzymes
prbpylene, ethylene
silk, skin

chitin, lignin

12

'

126. Quflelwid eremuig) ) e eor
dper Qasrar. sANLESERES @

T(HSSISSTLLTGLD.
(1) preng (’@ Qrie
@ woew @ gpep

127. QurBSES. |
(@) Qeuiw gpy @) SuGomafiub
LTHOLD : &CGerreny®

(b) Qeulw 218ip (i) &rHTrERT
LOIHMLD 2 Lenu

- gnwenw

WITEGSHD

C(©) ughswIs® (i) OQusefHwib
- BTLTemel

erflgsen

(d) ugsLTEGED (V) GEHECETE
B senrse

(1) @), (b)), (©-), (d)-G)
@ @), B)-Gid), (©)-Gv), (d)-G)
@ @) ), ©-0), @-@)
@) @-Gv), B)-0), (©)-Gi), (d)-(id)

128. QurmBETs gearerns Coits.
(1) g.erener, Qprsdr
(@ UGrmenLicden, erdHleder
(B) ul@, Csmed
(4) emaLligen, edldentenm



129. Choose the correct pair :

130.

131.

@

(i)

i)
)

(1)
3)

Calcium
chloride

Borax powder

Yellow flame -

Violet flame

Red flame - Epsom salt
Indigo flame - Potassium
chloride
(and (i)  (2) (i) and (i)
(i) and (iv) (4) (i) and (iv)

Identify which of the following compounds
are in solid state :

(1)

(2)
(3)
4

Assertion (A) :

Reason (R) :

1)
(2)

(3)

4

Potassium hydroxide, Hydrochloric
acid

Silica, Sulphur dioxide

Zinc carbonate, Sulphuric acid
Potassium hydroxide, Sodium
hydroxide

Explosives and fireworks
burst when ignified.

Some chemical reactions
produce gases which
decreases the pressure
when' the reaction takes
place in a closed container.
Both (A) and (R) are correct

(A) is correct but (R) is not the correct
explanation for (A) |

Both (A) and (R) are wrong

(A) is correct and (R) is the correct

explanation for (A)
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129. sfluren @evamsenars Cgirs.

@
(i)
(i)
)

50
‘©

LEHFET &L -  STOSHwd
&Cerreny (B

DB FLIT - Gurpréen
ey ’

feutiy &L - erugd 2 LIl

@QamgGasr - QumiLréuid
&LIT - @Cemreny(®

@) whmid (i) (2) (i) wHmD (i)
() wppid Gv)  (4) (i) opDID ()

130. Geneueuaneupmier S Hlepeouldgarar
Coiromisamerd Sl Hls.

(1)

(2)
3)
@

131. Sadm) :

QuriLrilubd emaplrrémeav(,
aan_CrrgCermils 2jSlewb
NG5, EHss-oL - E@men(h
&l585TE STTLGET., HbH5S Sibled
QuriLrdlwb eanlyréamav(,
Gemgwib enanL_gréeamen (h

Qeuig GaTHEEHLD, LLLITE-
@ LHD @eusEELEUTE
Qeulgsdlempen.

snyeverd : v Ceuglelleanensar epigul

(1)

‘@
®)

4)

saia Bl Curg eumys-
EMET 2 (HEUTEGSEUSTED DFen
2AP55D> G@DEDG.

apmi LHNLD SyewTd il
apm &Ml Yarréd SMyewHTDd
snpmisanen Ffliurer eflerésnde

SapHm LHND SATEwID Qe (HLD

gaum
gpm &fl  GCueiw ST [J 630TLD
SapmIssnent sHluman elledsIOMELD
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132. Match :

(@) Self pollination (i) Plums,
| strawberries

(b) Cross pollination(ii) .Spirogyra

(c) Vegetative (iii) Beans, Paddy
propagation B

(d) Fragmentation (iv) Sugarcane,

~ Yam

(1) (@)-(ii), (b)-(iv), (C)-(i)r (d)?(ii)

@) (@), (b)-(iid), (c) (IV) (d) @)

3 (@-@v), (- (11) (c)- (1) ( )-()

@)

133.

(a)-(ii), (b)-(3), (c)-(iv), (d)-(i)

Assertion (A) : In Cactus, the leaves are

modified into spines.

Reason (R) : It is an adaptation to

1)

(2)
®)

@

increase transpiration.
Both (A) and (R) are wrong

(A) is correct but (R) is wrong

(A) is correct and (R) explains (A)

(A) is correct but (R) does not explain
(A) |

'_14

(@)
®)

@
(@
0

(2)
®)

132, Qurmsss

&6 &EIHSE (1)  Leribe,
Corsens ‘ - evlgrQuif

SDWed WEFHSE (i) everuGrT

Gergens . . anET

2L Qe (iii) "<9‘|6)_I66)U', Qe
@u@é;aslb e

SIGTL_TSHED (iv) &(mLbL,
Ceeamand

Aphe
(@), (o10v), (-4, (-G
(@-(i), (b)-Gi), (O-6v), (4
(@)-v), (b)-Gi), (OG0 (&)

' @), (5160, (©-v), (-G

133. sapm : saalls sTOUFSHO Qenesdr

WpL&emE I eTere.

smyewtd : BrreluCursms sl

1)

‘@

@)

(4)

UDSSUSHETE Deueurm -
SHUMESILIL(HETeTg)..

DM LOMILD SATESTD @)y ewr(HLd
sauml -
sadm) &l yemed SMyewIDd Heum

ang')gj'&rﬂ Gogid SITesILD Fhenm
ellerd@dlmg '

gapml sM, <perTd SMyewHTLD

gapenp eflengseilvanad



134. Find the correct Statement(s) :

@)

(i)

(1)
(2)
3

@

In Runner, the stem which grows
laterally on the surface of the soil,
breaks up to produce roots that gives
rise to new plants.

Sucker is a short and weak lateral
br.anc:h that grows diagonally
downwards and directly gives rise to
a hew shoot.

An offset is a short and thick branch
that arises from the axial part of a leaf.

) and ()
(ii) only
(i) and (i)

@) and (i)
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134. sfluren spy/sppasmears GCHrH-
Q3B &EeLD.

@

(i)

(@)

)

2)

@)

@Oy, georuder Gopurinded
auaTr&aaigw Sl L g s
e L bgl, PpusTUCS CGeauf
sa@eTujld, LW STelrmiSameTu|d

2 (Heurs @GS enng.

sordp OO raTLg RO
Sflw wHpbd pOBS LssuT(HE
fever EPCHTEH cuaTiBg @B
yw  srauries e meurss
Senpg.

GLaLwrer ghsamlh erearug
Qeawiear Carear LGS BHS!
Caremmd GLeLWTeaT Sgds
lenemuim@Lb.

() wpgyd (i)

| (i) (b

(i) pmid (iii)

(i) OO (i) -
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135. Select the order of the parts labelled in the
following cell structure diagram.

b a
C
d
(1) a-Endoplasmic reticulum,

b-Chloroplast,
d-Golgi apparatus

c-Mitochondria,

(2) a-Golgi apparatus, b-Chloroplast,
c-Endoplasmic reticulum,

d-Mitochondria

(3) a-Chloroplast,
reticulum, c-Mitochondria, d-Golgi

b-Endoplasmic

apparatus

(4) a-Mitochondria, b-Golgi apparatﬁs,

c-Endoplasmic reticulum,

d-Chloroplast

136. Which cells are used to cure and prevent
Spinal Cord injury ?

(1) Nerve cells

(2) Red blood cells
(3) Stem cells

(4) - Muscle cells

135. pssrapib QFd ewly el
UL gHed GOSSUILLHETeT LiTghiser e
sflwrer euflengeriwns Cairs.

(1) a-erarGLmberrs cueneiibenae,
b-LUGRIST & D, c-amol_ G
sregmg fluir, d-Carerens 2 Lavmkiger

a-CasTeoensd 2 Lem&er, b-usm
Fflab, c-eramGLmerres euanelLl
Yesresrev, d-enwl _CLramemr_Mwim
(3) a-usmsmisD, b-erarGLrlerrs
amaollGaard®,c-ob_ G
srar_flwr, d-Csréens o L_eokisGeT
(4) a-ewl GLrerar_fwr, b-Careorans
o L GMEI&ET, c-eraTrGLmlerrs
auenel196eney, d-LGnIGeaTESL0D

136. (PSIGHSSETIqe FHLHLD STILILISEN TS
Ga@TuUBSFe D, FRESD  ThHS
Qedse LweTuHE eTmen ?

(1) BrbY CFoser
(2) @rés Heuliy QFeger
/@ epevd CF&6T

(4) swss CFoger



138.

139.

)

helps in the separatibn of

Chromosomes during cell division.

(1) Protoplasm
(2) .Lysoso‘me
(3) Cytoplasm
(4) Centrioles

Name the causative micro-organism which
citrus canker disease in plants ?

1)
(2)

Aphtho virus

Xanthomonas axonopodis

(3) Phytophthora infestans

Bacillus anthracis

Find the incorrect pairs :

Plant Family

(i) Solanum - Solanaceae
trilobactum

(i) Aloe vera - Rutaceae

(i) Acalypha indica -  Euphorbiaceae

(iv) Aegle marmelos - Liliaceae

(1) (i) and (iid)

(2) (i) and (iv)

(3 () (i) and (iii)

(4) . (i), (iii) and (iv)
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Qe u@gulen Gurg
Gfiss

&CrrCwrGerbseaeary
2 s g

(1)
2)
3)

HCrm_CLmAerrgLd
mawGarGamb
&FL_GLmberngb

QFer_MAGwirevser

graurmsafies Hlgev Caensr Cprepw
® @TLM&@ED Hiavrgpuif :

(1) UCsT eneuren
srpCasrGorearmeay psavGearr
Gumgev

Ul CLrenugGamym Qentlue-
LG0TV

(4) Cudloaeav <y bBSrrélen

SuPTE QUIHSSLILLL. QenaTsamend

CapOs[H&sea] .

Sheurid &OWu
(i) GCeremrerbd - QereCend
CengGavmr
GusLd -
(i) SACerQeurr - L GL &
(i) &TOlom - YhooGUMT
G awrig & NCwH
(iv) gdle rmd - SléelGus
| Gavmev

1) () omd (i)

(i) LopmId (iv)

(i), (i) pmd (iii)
(i), (iii) Lop@ID (iv)

®)
@)



| CODE | VHI | II | 24 |

140. Night Blindness : Vitamin A : : Bleeding
gums : ‘ ‘
(1)
3)

Vitamin C

2
4)

Vitamin B
Vitamin D Vitamin K

141. Identify the following diseases which are

caused by bacteria.

Tuberculosis, Rabies, Hepatitis, Cholera,
Cataract, Typhoid, Goitre

(@)
2

Tuberculosis, Cholera, Typhoid

Rabies, Cataract, Goitre

®)

Tuberculosis, Hepatitis, Cataract

(4) Cholera, Typhoid; Goitre

142. Find the poultry diseases caused by fungus.

(1) Ranikhet
(2)
)

@)

Aspergillus
Salmonellosis
Anthrax

143. For how many days, the eggs of silk moth

are to be kept in cold storage before

incubating ?
(1) 6 weeks (2) 5 weeks
(3) 2 weeks (4) 3 weeks

140. wreve&ssar Crmu : eneul L iblen ¢ : :
ryseaile @Qréss afley :
N7 C
(1) eveulLer B @ eneul_L18ler C
(3) eaulLifer D (4) emeultiflen K

141. 1966 (1 6u T 6u D M 6T urdeflwm
Qerpmred 2 arLr@b Chrusamers
ST,
srsGrpmi, Grlev, wEhFeT STLT®®,
STOIT, Sawryeny, enL.umi(, e
(1586 s Crm

4 areGHT, STerT, epLumi®

(2) Grlev, semyeny, PAEWSSS
spene Crm
srFGBT,
ST DI

LOEHEFET STOTENQ,

Srerm, eLuUru®, Parspssis
swene Gomul

142. epenggented CamOa@EndEE@ e LTG0
Gpmu :
(1) rpref&sL.
(@ <2}, 60LITER DG
() &reCGurbardGardlen

(4)  <wpSTTEHEL

143. u_puyFsllen @leLser e
STESULHEUSDS (6T THSEN6T BHTLSET
Gallir Qesliuflevwuder eassiuL
Geuam(Bid ?

‘@
- ®

6 QUTTISET 5 QUITPBISErT

2
@

2 QUTTRISET 3 aungrISeT

18 -



144. The smallest and longest cell in the human

@

body respectively are :

-

145.

3)

@

(b)

©

(d)

- (D)

(2)

()

nerve cell, red blood cell

stem cell, white blood cell

red blood cell, nerve cell

cartilage cell, muscle cell

Match the following :

Feature , Function

Articular (i) its fibrous

cartilage nature helps to
strengthen the
joint

Synovial fluid (i) connects bone
to bone

Joint capsule © (iii) reduces
friction
between the
articular
cartilage in the
joint

Ligament (iv) absorbs shock
and prevents
friction .

(@)-(id), (b)-(ii), (c)-(iv), (d)-(3)
(@)-(iv), (b)-(1), (c)-(i), (d)-(ii)
(a)-(iv), (b)-(itd), (c)-(), (d)-(ii)
(a)-(iid), (b)-(iv), (c)-(1), (d)-(ii)

- 19
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144, waflg 2 Lelar WaFSHlw wHMbL WBs.
Bewr Qeevaer wpenpGu :

1)
(2)

©@

@

By QFw, Qrss HeuliLigmisser
MO G, Brss Qeuerenar-
WG &S 6T

Qres HeauliLgnéser, BrbL Qe
GMmEOsabL QFd, sms Cgd

145. QU RSSHIS. -

(@)

(©)

(d)

1)
(2)

4)

LI6TTL{ S61T Qeweoun(pser
GOSAsQbY () Qs pris
e SETENLD
epL_(hsener
auLL(hsS
2 saydlpg
SCammellwed (i) eT@DLjL6
Slyeuld T@ILbEnL
@ enantad g,
e (iii)" epL_(hsefied
Ga L6, 2 _GTem GBS
QsguoL)
5@EG
@enLulevmen
o Imileneuds
G@p&dpg|
EEDSHTHT (iv) frefleows
| 2 fleseusd
G 2 rmi
ameug SHL
LSDGD
. 2 e dlpg
(@)-(ii), (b)-(iii), (c)-(v), (d)-()
@)-(iv), (b)-(), (c)-(i), (d)-(iii)
(@)-(iv), (b)-(ii), (c)-(), (d)-(ii)
(@)-(iii), (b)-(iv), (0)-(1), (d)-(ii)
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SOCIAL SCIENCE / &¢1p& iileflwied

146. The grammar text composed by a Buddhist
during later Chola period in 11t century was:

(1) Virasozhiyam

- (2). Visuddhimagga
(3) Kalpa Sutra

" (4) Maha Bhasya

147. Identify the place, which is not related to the

Bahmani Kingdom :
(1) Ahmadnagar (2) Sringeri
(3) Warangal (4) Gulbarga

148. Find the correct statement/statements.

Statement : (1) Cave architecture reached
' its decadent phase after
A.D. 700 and gave way to

the
temples.

large

Statement : (2)

provided a wider scope to
the sculptors to use their

skills.

Statement : (3)

Mahabalipuram are the
best example for cave

temples.

(1)
are wrong

(2)
(3) is wrong

)
4

are wrong

structural

The structural temples

The shore temples at

Statement (1) is correct but (2) and (3)
Statement (1) and (2) are correct but

Statement (1), (2) and (3) are correct
Statement (3) is correct but (1) and (2)

20

146.

<

147.

148.

«‘@

Gpasre Gerprsefienr smreowmer 11 b
BIpprarmiqed @6 Quetdsrmed Guibpls
L L @eodsemr HIe :

aIgGamfwid
(2) &&gHossr
(3) sOUGSTT
(4) wsTUTAGWIT
urflefll eirsLer  Cgrerdoers
gLz CoTHUsEEEeD.
(1) <SiaDwHBST HmrCail
(3) eumrRIE® 4) @eoursT
sRwrer gadm)/SahmiseneTs e Hlu-
@Lb. |
Fganml : (1) GLeuamys Caruieser
SlEGWL wep &.19. 700
-5GL  Yerent wemHI
Quiiw elgelerar s
rerd Carellavser &L -
UL L@
Snlser griseT FHmeposer
SiMmaGemSu|d LweTLIhgd)
He0Can HEMEVELIGITERTLD HTEwT

&apm) : (2)

sl_(pwreas  Careleser
SF & aurlenerns
QET(hHSS3).

Sapml : 3) wETUDTSHD DdH-
glemer sLpHaenrd Careflerser
GLaumrs Carelle s @hsd
HObs THSSSSM_LTELD.

(1) smppi (1) 6R, Smppi ), @) souD

gapm) (1), (2) &, spo1 (3) seum

FapmiseT (1), (2) LHHID (3) Bflﬂ‘
sadp) (3) 5, Sl (1), (2) Souy

®)
)



149.

150.

151.

@

Two Indian members in the Royal
Commission in 1912 were :

(1) Sathyendranath Tagore, Ramesh
Chandra Dutt | .
Biharilal Gupta, Gopala Krishna
Gokhale ‘ ’
Gopala Krishna Gokhale, Sir Abdur
Rahim

Satyendranath Tagore, Sir Abdur
Rahim

2)
3)
4
After whose invasion, the Pandyan kingdom
was divided among many kings ?

Mohammad Ghazni
Malik Kafur

Jalal-ud-din Khilji ,
Mohammad Bin Tughluq

(1)
2)
()

the
chronological order. .

@

Arrange following events in
Shivaji plundered Surat, the major

Mughal port on the Arabian Sea.

Third Panipet war was fought between
the Marathas and the Afghans.

(i)

Shivaji captured Kondana a fort near
Pune.

(iv)

Aurangazeb arrived in the Deccan..

@), (i), (@), Gv) (2 @), (i), @), @v)
@), Gv), (i), @) (4) @), @), @), @)

(1)
)
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149. 1912 -@&@ S@OWSSULLL  FrW

©

sleagailed 2 plilearrgerrs QL bGubDD
@pdHwrger :

(1) &58CwpSHrprs gramr rCey
sHET 55

Qaerflored @usT,
Hmeigent CoraGa

GCasrure

@
Carure fmeagenr CarsCe, &M
SUgIT Fadlb

FSHCUBETHTS STEn, &F LG

(4)
© rablo

150. wr@erLw udLQuAL@DEGL Qe

{®
)
(4)

151.
- auflensliLphsgis.

ureRTg W BrH Le rErsarTed ANsEs
QamreraruLl L g) ? :

(1) sgeafl wpswg

LDTE0 &Ly T

seorgiFear Hag

Wawg e gdens

Qemeumid Hlape|samer STeSSTLLILIgG
() Sarld ords sLpseruied
SOWHSH MBS (P& 6T & et 6
WP&E WS FIPDWPSHOTET GTS BHET
GEDWITIG GTTIT.

epemmmd urelul Gum wrrsSHwr
S@HSGW 2, UETEN WIS EHS G0
@eLCuw perLCuHm.

Seure), YCans@ AmCsumHS
Ceramheurermr GasrlenLews
&L b e,

()

QRaTyhI&EL

QUBSELHSTIT.
(), (i), (i), (iv) (2
(1), (iv), (id), (i)

(iv)

SEETANSMNS

(1)
)

(i), (i), (@), (iv)
(i), @), (iv), (i)
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succeeded in concluding a

commercial treaty with the Mughal Emperor
Jahangir.

(1) Job Charnock
@)
3)

)

Thomas Best
Sir Thomas Roe
Nicholas Downton

'153. is considered as more reliable

book to know about Akbar’s reign.

(1) Tarikh-i-Badauni
(2)
(3)

(4)

Tabakat-i-Akbari
Ain-i-Akbari
Akbar Nama

154. Humayun succeeded in recapturing Delhi in

1555 with the help of the Persian king :

(1) Hasan Suri
2
3)
@

Mohumad Gawan
Shah Tahmasp

Hasan Shah
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152. psorwl Gugrer gaprrdfib
@rHwureiler eaemflsd  Gelwywd
e lewwveowl Qupeaded  Ceaumm

SHETL_GUIT
(1)
@

/@ g gmoev Grm

4)

grnll &rrr’rasrrré;

STLOGL Queml_
H&Garaven Lmaio'n_sirr

153. i&suflen @J,I'_éﬂému;lﬁ.! upd Db
Qarérer 2 geyid HIOS&EHET LBl&Hey LD
BOLUSSSMND QUTUHSSTES &(HSL
LB B \
1)

(@ LSS~ @) -5
@) <ulel suf

4)

Sriflé-@)-Lgmef

S|EUT BT

154. anOwmyper erarp UTyEs

wearamaflen o gelyLer 1555 -eb
QLeellenw WSar@®d e&lubhmneldea
Qeupm QDT '

(1)

(2) (yaa;ng,J Seumen

(/@ QQT-SMLOGVLI

(4) amFen agm

amaen (Gfl



155. Assertion (A) :

156.

Reason (R) :

In 1240, Razia was

murdered by the
conspiracy of Turkish
nobles.

Razia trusted her personal
attendant Jalal-ud-din
Yakut an Ethiopian slave,
completely, which led to
the conspiracy of the
Turkish nobles.

(1)  (A) is correct but (R) does not explain

(A)

(2) (A) is correct and (R) is the correct
explanation for (A)

(3) (A) is correct, (R) is wrong

(4) . Both (A) and (R) are wrong

Match the following :

(@) Santhal
Rebellion

(i) 1859-1860

(b) IndigoRevolt (i) 1855-1856

(c) Pabna Revolt (i) 1890-1900

(d) Punjab Peasant (iv) 1873-1876

Movement

1) (@), (b)-i), (0)-(v), (d)-()
(2 @-(i), (b)-(), (©)-(iv), (d)-(ii)
@) @-Gv), d)-(i), (c)-(), (d)-(i)
) @-(), (b)-(iv), (c)-(ii), (d)-(i)

- 23
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155. sapm) : 1240 -@e gips&Hw Grysser

Qews sfwred gFevewm
O &Tene T,

SIIESILD : Fevedilwir, pergdear wWrEs

@

@

)
4)

Ta@ID Sy HaN 2 Fel
wrergrenr  erHCwWTLIQw
Slgemwewt Qufigd pLow
CursE, simsHwu Grysser
&L QFILILIG STTRTLONEIE).

Fgpm &M, Yared STrewwrDd
gapenn eflerdsellérene.

gapm M, Cub srrevwrbd
gapliparer Fflwrer elersaoma@Lw.

Sapml &fl, snewid geum.
DM OHNID SHTTETID @) rer (LD
SoU.

156. QuT(HESs.

()

(b)

(9
(d)

1)

@

(3)
(4)

SHETD sOsD () 1859-1860

@e&meGasr (i) 1855-1856
S&LD

urlenT s (i) 1890-1900
L@psml - (iv) 1873-1876
feugrulser

Quissid

(a)-(ii), (b)-(id), (c)-(iv), (d)-(0)
(2)-(id), (b)-(0), (©)-iv), (d)-(ii)
(@)-(iv), (b)-(iid), (c)-(0), (d)-(ii)
(a)-(3), (b)-(iV),‘ (€)-(idi), (d)-(ii)
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157. is perched upon a lofty rock
overlooking the town in Rajasthan.
(1) Udaipur Palace
(2) Palace of Mansingh
(3) Amber Fort
(4) The castle of Jodhpur
158. Who wrote commentary on the Brahma-
Sutra, the fundamental text of the Vedanta
School ?
(1) Ramanujar
(2) Thukkaram
(3) - Vallabhacharya
4) Adhi Shankara
159. The original name of Dheeran Chinnamalai
was : ,
(1) Sivagiri
(2) Theerthagiri
(3) Siva Subramaniyam
(4) Sevathaiah
160. The temperature of the Earth increases as

the depth increases for every
metres at the rate of Celsius

along with the increase in the Pressure.

(1) 33,5° 32, 1°

)

()

36, 7° (4) 35, 2°

24

rrgevgraller, pa®T
Crréfliu cuarentid, crefldled erpepig W
weouureapuler GCbe mwESU
Ll (peTerg. |

M
(2)
®)
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161.

162.

Find the wrong Statement(s) :

(i) The upper crust of the Continents is
called as Sial and the lower crust of
‘the Continents is called as Sima.

(i) The innermost layer of the Earth is
called as lithosphere.

(ii) The innercore of the Earth is composed
of Nickel and Ferrous, which are in

liquid state.
(1) (i) and (i) (2) (i) only
(3) (i) and (iii) (4)  (iii) only

Select the correct order of land forms created
by the river from its source to the river
mouth :

(1) .' Tributary,vWaterfall, Flood plain,
Delta, Oxbow lake

(2) Waterfall, Meander, Tributary, Oxbow
lake, Delta

(3) Waterfall, Oxbow lake, Meander,

Flood plain, Delta

(4) Oxbow lake, Tributary, Waterfall,
Delta, Flood plain

25
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163. Maitch the following :

164.

(a)
(b)
(©
(d)
(1)
@)

®)
(4)

Assertion (A) :

Reason (R) : Pure iron ore is very soft,
butits strength is increased
many folds by adding
small amounts of carbon
and manganese.

(1) (A) is wrong but (R) is correct

(2) (A) is correct but (R) is wrong

(3). (A) is correct and (R) explains (A)

(4) (A) is correct but (R) does not explain

Conurbation (i) Canton
Mega city (i) Vadodara
Smart city (i) Gurgaon

Megalopolis
(a)-(iid), (b)-Gv), (©)-(), (d)-(i)
(@)-(ii), (b)-Giv), (©-(), (d)-(i)
(@)-iv), (b)-(i), (-G, (d)-)
(@)-(ii), (B)-60), (-Gv), (d)-Gi)

earth strength, iron plays

a significant role

engineering industries.

(A)

(iv) Sholapur

Due to low cost and high
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L (a) Qe () GCserew
B&FLD
()  Oal Quilw (i) euCsrsrm
B&TLD
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B&TLD
(@) BUGum BaT  (iv) G&wa}rﬁjgr’r

1) (a)-(i), (b)-Giv), (©)-(), (d)-(id)
@ (@), (b)-Gv), (©)-(), (d)-(id)
@) (a)-(iv), (b)), ()-(i), (d)-()

'4 (a)-(idi), (b)-(3), (c)-(iv), (d)-(if)
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AHlw erelleorar &6
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Cugib aualew QunEDE.

1) Sabml SeUN D STeuTD &

) | sapml &fl, sMrewTd seum)

gapm) &#fl, Glogyld smrewid sapery

er& @I mg)

4) Sapm & LMD SHMETWND SnhHeD
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165.

166.

167.

168.

Select the States where Mayani Bird

Sanctuary and Kanha National Park are
located respectively.

(1) Gujarat, Maharashtra

(2) Maharashtra, Madhya Pradesh

(3) Madhya Pradesh, Assam

(4)  Rajasthan, Uttar Pradesh

Select the wrong pair (s) related to forests of
North America. .

Type of Forests Flora and Fauna
(i) Taiga forests - Cedar, Flk
(i) Tropical rain - Figs, Coyote
forests dogs
(iii) Tundra forests - Dwarf willows,
Wolverin -

(iv) Cool Temperate Yucca, Bear

. deciduous forests

() @and ) (2 () and (i)
@) @and@) @ @ and (W

The smallest country found in the Continent
of South America is :

(1) Uruguay | (2) Suriname

(3) Grenada ‘ (4) Peru

In case of fire accidents, helpline number

should be dialled to contact the
fire service department.
(1) 108 (2) 101
(3) . 100 4) 102
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(@) @rrgevgrer, 2 FArL ArCse
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(i) OeuluwarLev- 354,
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LD RIGET,
cumeveu e
(iv) @elips Wg - ULEST, &g
Qeuiu Qevew
WSl srHEer

() wpgid (i) (2) (i) wHmid (i)

/ (i) dgd (v) (4) () wHd (iv)

167. Qgeir LAY P2 7 sanTLg Sl
Siewpgiarer WB&FHAHw B :

1) emaCa (1 &fABmd
B) &Qgermr 4) Qum
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gleopeaw Ggriy GQamerer Geuetrigu!
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(3) 100 4) 102



[CODE|vVII] II | 24 |

169.

170.

171.

Find the correct pair :

(1) Plutonic rocks - Dolomite

(2) Hypabysal rocks - Dolerite

(3) Organic Sedimentary - Gypsum
rocks

(4) Chemical Sedimentary- Diorite
rocks

Which one of the following represents the
line joining the places with equal sunshine ?

(1) Isocryme (2) Isollobar

(3)  Isohell 4)

Isotherm

Which among the following is not the Pull
Factor for migration ?

(1) Favourable climate
(2) Political security
(3) Unemployment

(4) Social unification

169. sflurer Geamewis CaiipEs(H&sa .

1) Sigwmpl - GLreenl
UTEpDE&ET

\/@ QevLwimpL - G\L.WQS\@IIL;
: LITEnD&ET

() eWfens uge|d -é\L'JJLb‘

_ LITenD &6

4) @reTwer Uil - LWenTL

LITen &6

170.
Car® <@ ?

M g(’é&rresemyu)

(@ pCsrlser  (4) LCasrlsiid

171. QeneaumeuameuhmieT 6T8 @)L @LIWLITeE

sren @) (psrrentl e ?
1) 2865 sTHlae
Q) owfwue urgsTiLy |
Gmm@mnmulﬂ@rmm

4) &eps @DOENL

Spssam_eupBld erg F0 eray @Gflw
QeuefliFsid 2 cer @)L TBIGMET GINEMTEHGLD
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172,

173.

174.

%)

The rate of evaporation increases with :

(1) decrease in temperature
increase in humidity

increase in wind speed

3)

decrease in areal extent of surface

(4)

water-bodies.

An example for Joint Sector Industries :

(1)
(2)

Bajaj Auto

Hindustan Aeronautics Limited

(3) Anand Milk Union Limited

Indian Synthetic Rubber Ltd.

If the value of a product is Rs. 1200 and the
GST levied on that product is 12%, then the
Central and State government revenue from
GST respectively are :

(1) Rs. 40 and Rs. 100
2
(3)

4)

Rs. 70 and Rs. 70
Rs. 100 and Rs. 44

Rs. 72 and Rs. 72
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"175.

@

176.

177.

178.

Which of the following is not the effect of
black money on economy ?

(1)
2)

Lavish consumption spending

Tax evasion, thereby Joss of revenue to
Government

(3) Narrowing gap between the rich and
the poor

Undermining equity

“Equality does not mean identity by

treatment, the sameness of reward”, was

said by :
(1) A.V. Dicey

(2) Begum Rokeya Sakhawat Hussain
(3) Prof. Laski

(4) Raja Ram Mohan Roy

The Government of India observes ‘Road

‘Séfety Week’ during every year.
(1) June (2 July
(3) March (4) January

The Central Consumer Protection Authority

may impose a penalty upto _ ~and

on a manufacturer for a false

or misleading advertisement.

(1) INR10,00,000, 3 months imprisonment
(2) INR 50,00,000, 1 year imprisonment
(3) INR 10,00,000, 2 years imprisonment

(4) INR20,00,000, 6 months imprisonment
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179. Find the correct statement/statement(s) :

180.

@

(i)

(1)

(iv)

1

)

The number of judgés in the High
Courts is not uniform and fixed.

The judge of High Court must have at
least five years experience as an
advocate in one or more High Courts.

A judge of High Court holds the office
until he completes the age of 65 years.

The President appoints the Chief
justice of High Court in consultation
with the Chief justice of Supreme

" Court and the Governor of the State.

(i) and (iv) -

() and (i)

(2)
(4)

(iv) only
(i) only

From 34 December 2004 onwards, a person
born outside India shall not be a Citizen of
India by descent, unless his birth is registered
at an Indian Consulate within

of the date of birth.

(1)
2
(3)
4)

one year
six months
five years

one month

-00o0-
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